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3-1
0.P. G E Vs Vp h H
Vs Y Go G/Gy =<10° 2 5 2
10°kN/m ><10°kN/ m/s m/s %
™ m/s) [am®y| v [ (<10%kN/md) ( ) ( ) (n/s) (n/s) ) m
Ss-1|Ss-2|Ss-3| Ss-1 | Ss-2 | Ss-3 | Ss-1 | Ss-2 | Ss-3 [ Ss-1|Ss-2|Ss-3|Ss-1|Ss-2 ]| Ss-3| Ss-1] Ss-2 | S5-3
13.0
380 | 17.8 |0.473] 2.62 0.84|0.85|0.86| 2.20 | 2.23 | 2.25 | 6.48 | 6.57 | 6.63| 348 | 351 | 352 | - | - | - | 3 | 3 | 3 |85
4.5
470 | 17.0 |0.459| 3.83 2.95 | 3.06 | 2.95| 8.61 | 8.93 | 8.61 | 413 | 420 | 413 | 1500 1530 | 1500 77.5
-73.0
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-181.0_|
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-196.0
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4-2
2

WCKN) 15(>< 10°kN 1) As(m?) TCD)
21,420 2.21

14.0 6,948
20,250 2.09

21.1 8,650
63,170 6.52

9.0 12,728
83,300 8.60

124.1 15,511
111,840 20.59

172.8 34,327
141,010 25.96

239.2 47,077
227,110 62.36

348.4 140,127
300,450 82.49

2,812.6 772,237
135,000 37.07
103,550 E; 2.57><10" kN/nf

G 1.07=<10" KkN/nf
v 0.20
h 5%
49.0m(NS  )<57.4m(BW )

2
WCN) 16(>< 105N 1) As(m?) 1)
1 21,420 3.94
18.8 11,950
2 20,250 3.73
28.2 14,779
3 63,170 11.63
183.7 23,888
4 83,300 15.33
155.8 25,975
5 111,840 20.59
207.0 45,617
6 141,010 25.96
181.1 47,273
7 227,110 41.81
354.5 117,612
8 300,450 60.12
2,812.6 562,754
9 135,000 27.01
Ec 2.57><10"  KkN/m?
1,103,550 7 P
G 1.07><10" kN/m
v 0.20
h 5%
49.0m(NS ) ><57.4m(EW )
{'} WERN
Ry -]
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4-3

49.0m(NS  )><57.4m(EW )

2
W(kN) AN(mZ) KAX:LOB KN/m W(kN) As(xlo—ZmZ) I(m4)
1 14,893 1 _
55.3 1.73 11.35 0.9975
2 20,250 10 4,377
62.1 2.02 6.18 0.9975
3 63,170 11 2,150
284.1 9.58
4 83,300
294.9 14.04 ; , ,
5 111,840 ¢ 2.57><107 kN/m2
385.2 12.07 1.07>=<10 kN/m
v 0.20
6 141,010 . >
419.3 12.68
7 227,110
8 300,450 o7-5 141 Es 2.05><10j kN/mZ
2,812.6 180.71 7.90=<10" kN/m
9 135,000 \ 0.30
h 2%
1,103,550
Ko  2.31=<10 kN m/rad
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4-6 Ss-1H
NS
*1 *2 *3
Kc (H2) Cc fi1(Hz)

K1 8 2.96 ><10° 1.16 5.92 x<10° 2.46
K2 8 1.92 =10° 0.01 1.14 >=10° 2.46
K3 9 2.56 =<10° 1.16 5.12 >=10° 2.46
K4 9 1.66 >=10° 0.01 9.89 <10’ 2.46
K5 9 5.01 10’ 0.00 2.09 >=<10° 2.46
K6 9 3.70 =10 0.00 3.74 x=<10° 2.46
*1  K1,K3,K5 KN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 KN s/m K2,K4,K6 kN s m/rad
*3 1

EwW

*1 *2 *3

Kc (Hz) Cc f1(Hz)

K1 8 2.96 x=<10° 1.16 5.92 x=<10° 2.55
K2 8 1.92 =10° 0.01 1.15 >=10° 2.55
K3 9 2.56 <10° 1.16 5.12 x=<10° 2.55
K4 9 1.66 >=<10° 0.01 9.99 x=107 2.55
K5 9 4.93 %10’ 0.00 2.02 ><10° 2.55
K6 9 4.64 10" 0.00 5.70 >=<10° 2.55
*1  K1,K3,K5 KkN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad
*3 1

E HRERND
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4-7 Ss-2H
NS
*1 *2 *3
Kc (Hz) Cc f1(Hz)

K1 8 3.06 =<10° 1.18 6.02 >=<10° 2.49
K2 8 1.99 >=10° 0.01 1.16 >=10° 2.49
K3 9 2.65 x<10° 1.18 5.21 =<10° 2.49
K4 9 1.72 =<10° 0.01 1.00 x=10° 2.49
K5 9 5.18 10’ 0.00 2.12 =<10° 2.49
K6 9 3.85 =10 0.00 3.81 x<10° 2.49
*1  K1,K3,K5 KkN/m K2,k4,K6 kN m/rad
*2  K1,k3,K5 kN s/m K2,K4,K6 kN s m/rad
*3 1

EW

oy - o

Ke (Hz) Cc f.(H2)

K1 8 3.06 =<10° 1.18 6.02 x<10° 2.59
K2 8 1.99 =10° 0.01 1.17 =10° 2.59
K3 9 2.65 ><10° 1.18 5.21 =<10° 2.59
K4 9 1.72 x=10° 0.01 1.02 ><10° 2.59
K5 9 5.10 =10’ 0.00 2.06 =<10° 2.59
K6 9 4.83 x10% 0.00 5.82 x<10° 2.59
*1  K1,K3,K5 KkN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,k6 kN s m/rad
*3 1
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4-8 Ss-3H
NS
*1 *2 *3
Kc (Hz) Cc f1(Hz)

K1 8 2.96 =<10° 1.16 5.92 =<10° 2.46
K2 8 1.92 >=<10° 0.01 1.14 >=10° 2.46
K3 9 2.56 x<10° 1.16 5.12 x<10° 2.46
K4 9 1.66 >=10° 0.01 9.89 =107 2.46
K5 9 5.01 =10’ 0.00 2.09 =10° 2.46
K6 9 3.70 =10 0.00 3.74 x<10° 2.46
*1  K1,K3,K5 KkN/m K2,K4,K6 kN m/rad
*2  K1,k3,K5 kN s/m K2,K4,K6 kN s m/rad
3 f 1

EW

oy - o

Ke (Hz) Cc f.(H2)

K1 8 2.96 =<10° 1.16 5.92 =<10° 2.55
K2 8 1.92 =<10° 0.01 1.15 x=10° 2.55
K3 9 2.56 ><10° 1.16 5.12 =<10° 2.55
K4 9 1.66 >=10° 0.01 9.99 =107 2.55
K5 9 4.93 =10’ 0.00 2.02 =<10° 2.55
K6 9 4.64 >10%° 0.00 5.70 ><10° 2.55
*1  K1,K3,K5 KkN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,k6 kN s m/rad

*3 1

E HRERND

23



E HRERND

4-9 Ss-1V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1 8.03>=<10’ 0.00 4.77><108 4.19
4-10 Ss-2V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1 8.32><10’ 0.00 4.87><10° 4.26
4-11 Ss-3V
*1
Kc(kN/m) (H2) Cc(kN s/m) (H2)
K1 8.03><10’ 0.00 4.77><108 4.19
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e ?1‘mv}[\v.) i
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